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System;

System. Collections. Generic;
System. ComponentModel ;
System. Data;

System. Drawing;

System. Ling;

System. Text;

System. Windows. Forms;
System. 10

using
using
using
using
using
using
using
using
using

using Microsoft. VisualBasic. ApplicationServices;

namespace WindowsFormsApplicationl

[/ A AT F— A

public partial class frmMain @ Form
//======
%u7?~5ﬁﬁ
static public int TXT_header_sectors = 3; //TXTH&lkD & 7 ##%
int LOG_Version = 6; /T DR—=T g
int LOG_RecordBytes = 17; //a 7 DI a— RosA g
public const int max_log_data_counts = 100000; /1005415y DT —4 %
public struct LogData{
public int mode; //mode
public int v, vt; /B, B
public int angle, angle_t; ///~v RUF, BEAE
public int power; //'E—H2 AN
public int SV_pow; [/ —=RE—2 DT
public int 1, fr,rlrrs  //FRoE—2 47
public int slope_mode; //slope_mode;
public int slope_sw; / /RSN IR HE
public int slope_cnt; //HFE LT DORDOEL
public int trip; /IR T RA—=H
public float batt; //23y T ) EE
public int gyro; //Y %A 2 fE
public int side; [/ A R ofkiE
public int pos_sens; [IRY v arery
public int time; //W§f [ms]
public StringBuilder sens; //EUYOIRE (A REUUED)
! public int pre_sens; /eI Y
static public LogDatal] log = new LogData[max_log data_counts]; //& %
static public int log_count; //
public string path; //
StringBuilder str;
int LogFileSize; //a 777 L NDFEEDYA X

//bool DrivelsFixedDisk = false;

[/N=RTF 4 22 72 b BT %,

//

public frmOption frmOptionl = new frmOption();
static public int SCROLLBAR_WIDTH = 20; .
System. Threading. Mutex mut; //Z EELEEE (L OMutexA 7 V= 7 k

//
/17T 7 B
//

public const int graph_points = 12;
public struct myGraphPoints {
public bool enabled;
public Single y, yl;
public Pen pen;
public Single scale, max, min;

static public myGraphPoints[] gp = new myGraphPoints[graph_points];

static public int y0; // Xl

static public int cur_nl=0, cur_x=0, cur_x1=0; //Z'7 7 LOBE, @liONLE
static public bool cur_show = false; /1= VFIR

static public Single graph_v; //7770)Xt§ﬁ'

static public int scale_mode=1; /R DE— R

static public Point scrPointl, scrPoint2; [/ 7T T DAY v — LR

//
%/M“r U 7 7 A L OJEMERAT

public void FileSave ()
{

string path_save = path. Substring(0, path.Length — 4) + ”“_new.LOG”;
FileStream fsr = new FileStream(path, FileMode.Open, FileAccess.Read);
int fileSize = (int)fsr. Length; /] 77 ANDFA X

byte[] buf = new byte[fileSize]; [/ T — 2 k&AL

fsr. Read (buf, 0, fileSize);

fsr. Close();

fsr.Dispose();

FileStream fsw = new FileStream(path, FileMode.Create, FileAccess.Write);
fsw. Write(buf, 0, LogFileSize);

fsw. Close () ;

fsw. Dispose () ;

//
/77 A &<
//

public void FileOpen(string filename)

int WorkAddress, BuffAddress;
int n=0, i;

/EREFDF = v s

if (filename. Substrlng(fllename Length — 4). ToUpper () ="
MessageBox. Show "MCRIHDLOGT 7 A L Tidd ) £HA ! ",
return;

L0G") {

path = filename;
txtPath. Text = filename;

//
/? T XA v T ORI A

System. 10. StreamReader TextFile;
TextFile = new System. I0. StreamReader (path, System. Text.Encoding. Default)

int c;
¢ = TextFile.Read();
txtHead Clear();

if(c ="#){

string Line;

/BT DN— 3 kgt riATe
Line = TextFile.ReadLine();

LOG_Version = int.Parse (Line) ;
//Forml. Text = Forml. Text + ”

//1Va— RORA Mg RiE

if (LOG_Version <= 3) {
LOG_RecordBytes =

}

else{
Line = TextFile.ReadLine();
LOG_RecordBytes = int.Parse(Line);

(" + Line + 1)”;

12;

//TFA v T ORI AT
n=0;
do{

Line = TextFile.ReadLine();

if (Line == "<END>”) break;

if (n++ > 128) break;

txtHead. Text += Line + System. Environment.NewLine;
Jwhile(Line != null);

else{
//LOG_Version = 6;
//L0G_RecordBytes = 17;
}

txtHead. Text += String. Format (“Log_Version = {0, 3:d3}”, LOG_Version) + Sy

stem. Environment. NewLine;

unt]

diff

TextFile. Close();
TextFile. Dispose () ;

//
/? NAT Y 2T T — B OFEIRAT

FileStream fs = new FileStream(path, FileMode.Open, FileAccess.Read);
int fileSize = (int)fs.Length; /] 77 ANDYA X

byte[] buf = new byte[fileSizel; [/ T — 2 KA R ES

int readSize; // Read X Y RTHAAATENA MK

int ErrorCount = 0; /] =7 —n¥K
/[T A—=2
int time; [/ AL — RinGORKERER  [ns]
sbyte  mode, // E—F
v, // BUEDRE x10 m/s]
vt, // B x10 m/s]
angle, [/ BAED/N RILAY °
angle_t, // HEEAN R ° ]
power, // BEBE—Z DI %)
slope, // WOHRRE slope_mode, sw, slope_co
gyro, /] PxA kA
SV_pow, [/ F—=RE—=Z DN %)
1, // mifEE— 2 %)
fr, [/ RigE— 2 ) %)
rl, /) BlEE—H2HT %)
rr, /] #AE—2 1) %)
side, /] A }\'TZ/‘ULV““E‘L
pos_sens, NV IV eV B TN -3
pre_sens; Fre
byte sens, H vk P RRE
batt; v 7 U —EE
int trip; // z&—wﬁ\f‘o@%ﬁﬁﬁ}%ﬁ [em]
if(c == "#) WorkAddress = TXT_header_sectors * 512;
else WorkAddress = 0;
BuffAddress = 0;
n=0;
fs. Seek (TXT_header_sectors * 512, SeekOrigin.Begin);
IstView. Hide () 5
IstView. Items. Clear () ;
readSize = fs.Read(buf, WorkAddress, 512);
time = 03
//
%E’ﬁ/\—/a VO3 FOfEAiAT  Z D
if (LOG_Version <= 3) {
1blHeadl. Text = ” time mode sens hnd ang pow vt v slc trip
Batt Gyro ”;
1blHead2. Text =~ A B C D E
F G 7
while (WorkAddress < fileSize — 512) {
mode = (sbyte) buf [WorkAddress + BuffAddress + 0];
sens = buf[WorkAddress + BuffAddress + 1];
v = (sbyte)buf[WorkAddress + BuffAddress + 2];
vt = (sbyte)buf[WorkAddress + BuffAddress + 3];
angle_t =  (sbyte)buf[WorkAddress + BuffAddress + 4];
angle =  (sbyte)buf[WorkAddress + BuffAddress + 5];
power =  (sbyte)buf[WorkAddress + BuffAddress + 6];
slope =  (sbyte)buf[WorkAddress + BuffAddress + 7];
trip =  buf[WorkAddress + BuffAddress + 8];
trip <K= 8;
trip +=  buf[WorkAddress + BuffAddress + 9];
batt = buf[WorkAddress + BuffAddress + 10];
gyro = (sbyte)buf[WorkAddress + BuffAddress + 11];
ErrorCount = (int)sens;
log[n]. mode = mode;
log[n].v = v & 0x3f;
log[n]. vt = vt
log[n]. angle = angle;
log[n]. angle_t = angle_t;
log[n]. power = power;
log[n]. slope_mode = (slope > 6) & 0x03;
log[n]. slope_sw = (slope > 4) & 0x03;
log[n]. slope_cnt = slope & 0x0f;
log[n]. trip = trip;
//" log[n].batt = batt;
log[n]. batt = ((float)batt)*8.0F * (float)frmOptionl.nudB
att_a.Value + (float)frmOptionl. nudBatt_b. Value;
log[n]. gyro = gyro;
//log_count =n;

if ((v & 0x80) != 0) log[n].sens
else log[n]. sens
for (i=0; i<8; i++) {
if(i 1= 4
if ((sens & 0x80) != 0) log[n].sens.Append("*”);
else log[n]. sens. Append ("-") ;

new StringBuilder (” S") ;
new StringBuilder(” ”);
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sens <<= 13
log[n]. slope_mode = (slope >> 6) & 0x03;
if ((v & 0x40) != 0) log[n].sens.Append(”S”); log[n]. slope_sw = (slope > 4) & 0x03;
else log[n]. sens. Append (” ”); log[n]. slope_cnt = slope & 0x0f;
log[n]. trip = trip;
str = new StringBuilder (String. Format(”{0, 6}”, time)); // logln].batt = batt;
time += 4;
str. Append (String. Format (“{0, 4}”, log[n].mode)); if (LOG_Version == 6)
str. Append (log[n]. sens) ; log[n]. batt = ((float)batt)*4.0F * (float)frmOptionl. nudB
str. Append(Strlng Format (“{0, 4}”, logln].angle_t)); att_a.Value + (float)frmOptionl. nudBatt_b. Value;
str. Append (7 else
str. Append (Strlng Format (“{0, 3}”, logln].angle)); log[n]. batt = ((float)batt)*8.0F * (float) frmOptionl.nudB
str. Append (” ) ; att_a.Value + (float)frmOptionl.nudBatt_b. Value;
str. Append (Strlng Format (“{0, 4}”, log[n].power));
str. Append (String. Format (“{0, 4}”, log[n].vt)); log[n]. gyro = gyro;
str. Append (String. Format (" {0, 4}”, loglnl.v)); log[n]. side = side;
str. Append (" ) ; log[n]. pre_sens = pre_sens;
str. Append (String. Format (“{0, 1}”, log[n].slope_mode)); log[n]. pos_sens = pos_sens;
str. Append (String. Format (“{0, 1}”, logln].slope_sw));
str. Append (String. Format (“{0, 1}”, log[n].slope_cnt)); //log_count =n;
str. Append (String. Format (" {0, 8}”, log[n].trip))
str. Append (String. Format (“{0, 6}”, log[n].trip)); // e o
str. Append (String. Format (“{0, 7:f1}”, log[n].batt)); if (log[n]. pre_sens == 1) log[n]. sens = new StringBuilder(” P ”
str. Append (String. Format (“{0, 7}”, log[n].gyro)); )
else log[n]. sens = new StringBuilder(” ”
i{f (mode == -2) [/IBDE o~ )
int ii; [/7A4 oY
WorkAddress += 512; if ((log[n]. side & 0x02) != 0) log[n]. sens. Append(”"S”); //%
readSize = fs.Read(buf, WorkAddress, 512); else log[n]. sens. Append (" ) ;
BuffAddress = 0;
for(i=0; i<8; i++){
time —= 4; switch (i) {
case 0: case l: case 3: case 6: case 7:
for (11=0; ii<ErrorCount; ii++) { [/2T —DWIE DI3ZEAT if ((sens & 0x80) ==
ffiA log[n]. sens. Append (") ;
log[n]. mode =0; else
logn].v =0; log[n]. sens. Append ("*”) ;
log[n]. vt =0; break;
log[n]. angle =0; case 4:
log[n]. angle_t =0; break;
log[n]. power =0; case 2: case 5:
log[n]. slope_mode = 0; if ((sens & 0x80) == 0)
log[n]. slope_sw =0; log[n]. sens. Append ("~") ;
log[n]. slope_cnt =0; else
log[n]. trip =0; log[n]. sens. Append ("+”) ;
log[n]. batt =0; break;
log[n]. gyro =0; }
IstView. Ttems. Add ("Err”) sens <<= 13
nt+; if (n > 10000) break;
} if ((logln]. side & 0x01) != 0) log[n].sens.Append(”S”); //%
} else log[n]. sens. Append (" ) ;
else
/Ry arkr Pl
BuffAddress += 12; if (LOG_Version == 4) {
1stView. Items. Add (str) ; log[n]. sens. Append (” )
nt+; if (n > 10000) break;
JIRvarkerddHy
else{
if (mode == 0) break; //mode3072 5 & T log[n]. sens. Append (" ) ;
pos_sens <<= 3;
} for (i=0; i<5; i++) {
/ if ((pos_sens & 0x80) == 0)
;/U TN—= 3 VO03LL FDOBMABRKET ZZFET log[n]. sens. Append (") ;
else
log[n]. sens. Append ("*”) ;
pos_sens <<= 13
Wi ]
é/u JN—= 2 004N DRI ATE T I }
/
else if(LOG_Version > 4) { str = new StringBuilder (String. Format(”{0, 6}”, time));
1blHead2. Text = A B C D time += 5;
F G J K L 7y str. Append (String. Format (" {0, 4}”, log[n].mode));
1blHeadl. Text = ” time mode sens pos hnd ang sv vt v str. Append (log[n]. sens) ;
fl fr rl rr x sle Batt Gyro ” str. Append (" ) ;
str. Append(Strlng Format (“{0, 3}”, log[n].angle t));
while (WorkAddress < fileSize — 512) { str. Append (" ) ;
mode = (sbyte)buf[WorkAddress + BuffAddress + 0]; str. Append (String. Format (“{0, 3}”, log[n].angle));
sens = buf[WorkAddress + BuffAddress + 1]; str. Append (" 7);
str. Append (String. Format (" {0, 4}”, log[n].sv_pow));
angle_t =  (sbyte)buf[WorkAddress + BuffAddress + 2]; str. Append (" 7);
angle =  (sbyte)buf[WorkAddress + BuffAddress + 3]; str. Append (String. Format (" {0, 4}”, logln].vt));
str. Append (String. Format (" {0, 4}”, log[n].v));
sv_pow = (sbyte)buf[WorkAddress + BuffAddress + 4]; str. Append (" ) ;
str. Append (String. Format (" {0, 4}”, logl[n].f1));
vt = (sbyte)buf[WorkAddress + BuffAddress + 5]; str. Append (String. Format (" {0, 4}”, log[n].fr));
v = (sbyte)buf[WorkAddress + BuffAddress + 6]; str. Append (String. Format (" {0, 4}”, logln].rl));
f1 = (sbyte)buf[WorkAddress + BuffAddress + 7]; str. Append (String. Format (“{0, 4}”, log[n].rr));
fr = (sbyte)buf[WorkAddress + BuffAddress + 8]; str. Appcnd(Strlng Format (“{0, 7}”, log[nl.trip));
rl = (sbyte)buf[WorkAddress + BuffAddress + 9]; str. Append (" ”);
rr = (sbyte)buf[WorkAddress + BuffAddress + 10]; str. Append (String. Format (“{0, 1}”, log[n].slope_mode));
str. Append (String. Format (“{0, 1}”, log[n].slope_sw));
slope =  (sbyte)buf[WorkAddress + BuffAddress + 11]; str. Append (String. Format (“{0, 1}”, logl[n].slope_cnt));
str. Append (String. Format (" {0, 6:f1}”, log[n].batt));
trip = buf[Work/\ddreﬁs + BuffAddress + 12]; str. Append (String. Format (" {0, 6}”, logl[n].gyro));
trip K= 8
trip += buf[WorkAddress + BuffAddress + 13]; i{f (mode == -2) //RDE T B~
batt = buf[WorkAddress + BuffAddress + 14]; //batt int ii;
gyro = (sbyte)buf[WorkAddress + BuffAddress + 15]; //gyro WorkAddress += 512
readSize = fs. Read(buf WorkAddress, 512);
side = (sbyte)buf[WorkAddress + BuffAddress + 16]; BuffAddress = 0;
side >>=6;
side &= 0x03; time —= 53
pre_sens = (sbyte)buf[WorkAddress + BuffAddress + 16]; [/ T —DRFHIE DD Iy ZEFTHRA
pre_sens »>= 5; if (LOG_Version »= 2) {
pre_sens &= 0x01; for(ii=0; ii<ErrorCount; ii++) {
log[n]. mode =03
pos_sens = (sbyte)buf[WorkAddress + BuffAddress + 16]; log[n]. angle_t =0;
pos_sens &= OxIf; log[n]. angle =0;
log[n]. sv_pow =
ErrorCount = (int)sens; log[n]. vt =
log[n]. v =
log[n]. mode = mode; log[n]. f1 =
log[n]. angle_t = angle_t; log[n]. fr =
log[n]. angle = angle; log[n]. rl =
log[n]. sv_pow = SV_pow; log[n].rr =
log[n]. vt = vt; log[n]. slope_mode =
logln]. v =v; log[n]. slope_sw =
log[n]. f1 = fl; log[n]. slope_cnt =
log[n]. fr = fr; log[n]. trip =
log[n].rl =rl; log[n]. batt =
log[n]. rr = rr; log[n]. gyro =
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log[n]. side =0; ) gpl 7].pen = new Pen(frmOptionl. 1blH. ForeColor, (float)frmOptionl.widthH.
Value) ;
1stView. Items. Add (“Err”) ; gpl 8].pen = new Pen(frmOptionl. 1b1I.ForeColor, (float)frmOptionl.widthI.
nt+; if (n > 10000) break; Value) ;
) } ) gpl 9].pen = new Pen(frmOptionl. 1b1]J. ForeColor, (float)frmOptionl.width].
Value) ;
} gp[10]. pen = new Pen(frmOptionl. 1blK. ForeColor, (float)frmOptionl.widthK.
else Value) ;
gp[11]. pen = new Pen(frmOptionl. 1blL. ForeColor, (float)frmOptionl.widthL.
BuffAddress += LOG_RecordBytes; Value) ;
IstView. Items. Add (str) ;
n++; if (n > 10000) break; gpl 0].enabled = frmOptionl. chkA. Checked;
} gpl 1].enabled = frmOptionl. chkB. Checked;
gpl 2].enabled = frmOptionl. chkC. Checked;
if (mode == 0) break; //mode 3072 HHET gpl 3].enabled = frmOptionl. chkD. Checked;
gpl 4].enabled = frmOptionl. chkE. Checked;
} gpl 5].enabled = frmOptionl. chkF. Checked;
/ gpl[ 6].enabled = frmOptionl. chkG. Checked;
//a T N—= 2 004LL EDFEHRARMET ZIZET gp[ 7].enabled = frmOptionl. chkH. Checked;
// gpl 8].enabled = frmOptionl. chkI. Checked;
gpl 9]. enabled = frmOptionl. chk]. Checked;
1stView. Show() ; gp[10]. enabled = frmOptionl. chkK. Checked;
gp[11]. enabled = frmOptionl. chkL. Checked;
log_count = n;
LogFileSize = WorkAddress + 1024; [/ FEEDH A R ARAF IR LT gpl 0].scale = (Single) frmOptionl. nudA. Value;
B< gpl 1].scale = (Single) frmOptionl. nudB. Value;
gpl 2].scale = (Single) frmOptionl. nudC. Value;
fs. Dispose () ; gpl[ 3].scale = (Single) frmOptionl. nudD. Value;
menulileSaveTXT. Enabled = true; gp[ 4].scale = (Single)frmOptionl. nudE. Value;
gp[ 5].scale = (Single)frmOptionl. nudF. Value;
DrawGraph () ; gpl 6].scale = (Single) frmOptionl. nudG. Value;
gpl 7].scale = (Single) frmOptionl. nudH. Value;
btnToubai. Enabled = true; gpl 8].scale = (Single) frmOptionl. nudl. Value;
btnX2. Enabled = true; gpl 9].scale = (Single) frmOptionl. nudJ. Value;
btnX4. Enabled = true; gpl[10]. scale = (Single) frmOptionl. nudK. Value;
btnX8. Enabled = true; gp[11]. scale = (Single) frmOptionl. nudL. Value;
) for(n=0; n<log_count; n++) {
[/ = RT 4 A7 T2 b BHEMRAF
System. 10. DriveType DType; if (LOG_Version <= 3) {
string drive_a, drive_b; gpl 0].y = —log[n]. angle_t;
drive_a = path. ToString(). Substring(0, 1) ; gpl 1].y = ~log[n]. angle;
foreach (System. 10. DriveInfo DInfo in System. I0.DriveInfo. GetDrives()) { gpl 2].y = ~log[n]. power;
DType = DInfo.DriveType; gp[ 3].y = -log[n].vt;
drive_b = DInfo. ToString(). Substring (0, 1) ; gpl 4].y = -log[n].v;
if( drive_a == drive_b ) { gpl 5].y = -log[n]. batt;
if ( DType == System. I0. DriveType. Fixed ) { gpl 6].y = ~log[n]. gyro;
//DrivelsFixedDisk = true; gpl 7].y = 0;
FileSave(); epl 8.y = 0;
menuFileSave. Enabled = true; epl 9.y ;
egpl10].y = 0;
else{ gplll]l.y = 03
menuFileSave. Enabled = false; }
else if(LOG_Version >= 4) {
} gpl 0].y = ~log[n].angle_t;
} gpl 1].y = ~log[n]. angle;
gpl 2].y = ~log[n]. sv_pow;
} gpl 3].y = -logln]. vt;
gpl 4].y = -log[n].v;:
gpl 5].y = -log[n]. f1;
// gpl 6].y = -log[n]. fr;
// GraphoD | gpl 7).y = -log[n].rl;
/ gpl 8].y = ~log[n].rr;
public void DrawGraph () gpl 9].y = ~log[n]. trip;
{ gpl10].y = ~log[n]. batt;
cur_show = false; [/ 93— IV FFIRIC ' gpl11].y = ~log[n]. gyro;
switch(scale_mode) { for(i=0; i<12; i++) {
case 1: pctGraph. Width = pnlGraph. Width; break; gplil.y = gplil.y * gp[i]. scale * (Single)y0 / 1000;
case 2! pctGraph. Width = pnlGraph. Width * 2; break;
case 3! pctGraph. Width = pnlGraph. Width * 4; break;
case 4: pctGraph. Width = pnlGraph. Width * 8; break; X += graph_v;
case 5. pctGraph. Width = log_count; break;
case 6: pctGraph. Width = log_count * 2; break;
case 7: pctGraph. Width = log_count * 4; break; if (log[n].mode == 0) { // v TR T — OWMIE R EEATT T
} case 8: pctGraph. Width = log_count * 8; break; TREEII L7220V,
int ix;
pctGraph. Height = pnlGraph. Height — SCROLLBAR_WIDTH;
for(ix = (int)x1; ix < x; ix++) {
. g. DrawLine (pen_err_background, ix, 0, ix, (int)pctGraph.Heigh
// PictureBox &[Gl Y%A A DBitmapA 7 ¥ =7 k Z{ERKL t)s
Bitmap bmp = new Bitmap (pctGraph. Size. Width, pctGraph. Size.Height) ; }
pctGraph. Image = bmp; }
Graphics g = Graphics. FromImage (pctGraph. Image) ; elsef / /368 i
if(n % 20 == 0) { / /iR
int n, 1i; g.DrawLine (pen_backline, x1, 0, x1, pctGraph.Height);
Single x, x1;
Pen pen_err_background = Pens.MidnightBlue;
Pen pen_backline = Pens.DarkSlateGray; for(i=11; i>=0; i—){
if (gp[il. enabled == true) {
- y0 = pctGraph. Height / 2; /17K if (n>0) if (logln-1].mode == 0) gplil.yl = gplil.y:
he
Y
g.DrawLine (gp[i]. pen, x, gplil.y + y0, x1, gplil.yl + y0)
xl =x=0; 5
. graph_v = (Single)pctGraph. Width / (Single) frmMain. log_count; //xD gplil. vl = gplil.y;
}
for (i=y0; i<pctGraph.Height; i+=40) { }
g. DrawLine (pen_backline, 0, i, pctGraph.Width, i); y xl = x;
for (i=y0; i>0; i-=40) {
g.DrawLine (pen_backline, 0, i, pctGraph.Width, i); petGraph. Refresh () ; // PictureBox% Hr (FRffim <& 2%)
g. DrawLine (Pens. Gray, 0, y0, pctGraph.Width, y0); for (i=0; i<graph_points; i++) {
gplil. pen. Dispose();
for (n=0; n{graph_points; n++) { g.Dispose () ;
gplnl.y = gplnl.yl = 03 }
//
) gp[ 0].pen = new Pen(frmOptionl. 1blA. ForeColor, (float)frmOptionl.widthA. %Iﬁﬁ:{fiﬁﬂ)ﬁﬂyw%iﬁf
Value) ;
) gp[ 1].pen = new Pen(frmOptionl. 1b1B. ForeColor, (float)frmOptionl.widthB. private void erase_cursol ()
Value) ;
gp[ 2].pen = new Pen(frmOptionl. 1b1C. ForeColor, (float)frmOptionl.widthC. Point pl, p2, ps, pe;
Value) ; Point pgx = pnlGraph. PointToScreen (new Point (0, 0));
gp[ 3].pen = new Pen(frmOptionl. 1b1D. ForeColor, (float)frmOptionl.widthD.
Value) ; //BBED I — Y Nk
gpl 4].pen = new Pen(frmOptionl. 1blE. ForeColor, (float)frmOptionl.widthE. pl = new Point ((int)cur_x1, 0);
Value) ; p2 = new Point ((int)cur_x1, pctGraph.Height);
gpl 5].pen = new Pen(frmOptionl. 1b1F. ForeColor, (float)frmOptionl.widthF. ps = pctGraph. PointToScreen (pl) ;
Value) ; pe = petGraph. PointToScreen (p2) ;
gpl 6].pen = new Pen(frmOptionl. 1b1G. ForeColor, (float)frmOptionl.widthG. if(ps.X > pgx.X && ps.X < pgx.X + pnlGraph. Width) {
Value) ; ControlPaint. DrawReversibleLine (ps, pe, Color.Black);
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} ! e.Effect = DragDropEffects. All;

//
%%ﬁbb‘{ﬁ@!:?ﬁ*yw%f%

//
%::7%7”1:—777\1‘9@774/V =S

private void draw_cursol ()
private void frmMain_DragDrop(object sender, DragEventArgs e)
Point pl, p2, ps, pe;

Point pgx = pnlGraph. PointToScreen (new Point (0, 0)); if (e.Data.GetDataPresent (DataFormats. FileDrop)) {
int n; - foreach (string fileName in (string[])e.Data.GetData (DataFormats. File
Drop.
if (cur_show) { [IH—=INPERENTWELBEOD— Y LV EHE FileOpen (fileName) ;
erase_cursol () ; }

elsef }
cur_show = true;

//
4 B} /AT F—hDAY AT I H
/8 LT O E A 315
n = lstView. SelectedIndex; public frmMain()
cur_x = (int) ((Single)n * graph_v); {

N B InitializeComponent () ;
/3 LBPTC A — Y L HoR
pl = new Point((int)cur_x, 0);

p2 = new Point ((int)cur_x, pctGraph.Height); //
ps = pctGraph. PointToScreen (pl) ; [/ AA T F— LDFLE)
= pctGraph. PointToScreen (p2) ; //
1f(ps X > pgx. X & ps.X < pgx.X + pnlGraph. Width) { private void frmMain_Load(object sender, EventArgs e)
ControlPaint. DrawReversibleLine (ps, pe, Color.Black); {
/) )/ ZEREB ORI
// mut = new System. Threading. Mutex (false, “myMutex”);
/73 LT % cur_x LIZ Rt g // if (mut.WaitOne (0, false) == false) {
cur_nl = n; // this. Close () ;
| cur_xl = cur_x; /)
//EEBFD 7 7 A VA BT
string[] cmds = System. Environment. GetCommandLineArgs () ;
// if (cmds. Length > 1) {
[/ HEH — 2 D E for( int i=1; i < cmds. Length; i++ ) {
1 FileOpen (cmds[i])

?rivate void 1stView_SelectedIndexChanged(object sender, EventArgs e)

}

//PictureBox®D¥ A R iE
pctGraph. Width = pnlGraph. Width;
pctGraph. Height = pnlGraph. Height;

draw_cursol () ;

//
%Eﬁt@ﬁ?7ﬁ~ywm@ )

private void pctGraph_Paint (object sender, PaintEventArgs e)

//
[/ A AT H—BDRET
if (cur_show) { “
erase_cursol () ; private void frmMain_FormClosed(object sender, FormClosedEventArgs e)
cur_show = false;
//mut. Close () ;

)
// - // ;
%774”%5% (RA=a—RkUQavy FRZLD) %—’r—*\—z MEXTZ 7 A vE—7
p{rivate void FileOpen_Click(object sender, EventArgs e) p{rivate void menuFileSaveTXT_Click(object sender, EventArgs e)
/] BT HA TSRy A string path_txt;
OpenFileDialog ofd = new OpenFileDialog(); int i, n=0;
ofd. InitialDirectory = txtPath. Text;
ofd. Filter = "MCR® 77 7 A /L (k. LOG) [*.LOG|” + "F_XTDZ 7 A /L (k%) | if (path = ""){
K MessageBox. Show ("7 7 A V3D EHA") 5
ofd.FilterIndex = 1; return;
ofd. Multiselect = fal }
if (ofd. Sholealog() DialogResultA 0K) {
FileOpen (ofd. FlleName) ; if (IstView. Items. Count == 0) {
return;
! ofd. Dispose () ;
path_txt = path. Substring(0, path.Length - 3) + "TXT";
/1 /] BAE FAT TRy 7 A
/7 7 A IVOIRTE SaveFileDialog sfd = new SaveFileDialog();
// sfd. InitialDirectory = path_txt;// txtPath. Text;
private void menuFileSave_Click(object sender, EventArgs e) sfd. FileName = path_txt;
sfd. Filter = "MCR TXT2 277 7 A b (%, TXT) [*. TXT|” + "+ _XTHO7 7 A /L (%
FileSave(); *) [, %73
sfd. FilterIndex =
if (sfd. Sholealog() == DialogResult. OK) {
// 8 path_txt = sfd.FileName;
/7 F—=LDY YA X
// elsef
private void frmMain_Resize(object sender, EventArgs e) sfd. Dispose();
return;
v
if (IblHeadl. Size. Width > 0) { sfd. Dispose();
splitContainerl. SplitterDistance = lblHeadl. Size.Width + SCROLLBA
R_WIDTH; // }
) } ?5 TXANT =X OFEXIAT
catch (Exception) { System. 10. StreamWriter TextFile;
TextFile = new System. 10. StreamWriter (path_txt) ;
} if (txtHead. Text. Length > 0) {

TextFile. WriteLine (txtHead. Text) ;

//

[/ AT Yy bs—iE .
// //TextFile. WriteLine(“mode sens hnd ang pow vt v slc trip diff
private void splitContainer2_Panell_Resize(object sender, EventArgs e) Z ”

x");
//'/l:)extFile. WriteLine ("

txtHead. Height = splitContainer2. Panell.Height — txtHead. Location.Y;

TextFile. WriteLine (IblHeadl. Text) ;
?rivate void splitContainer2_SizeChanged(object sender, EventArgs e) for(i = 0; i < 1blH gagl Text. Length; i++) {

TextFile. Write ("~

txtHead. Width = splitContainer2.Panell.Width - txtHead. Location.X * 3;

txtPath. Width = txtHead. Width; TextFile. WriteLine();
IstView. Width = txtHead. Width;
IstView. Height = splitContainer2.Panel2. Height — IstView. Location.Y; for (n=0; n<{lstView. Items. Count; n++) {
} ! TextFile. WriteLine (1stView. Items[n]);
private void splitContainerl Panel2 Resize(object sender, EventArgs e) TextFile.Close();
TextFile. Dispose () ;
pnlGraph. Width = splitContainerl.Panel2. Width — SCROLLBAR_WIDTH; MessageBox. Show (path_txt, “EXALIKT”);
pnlGraph. Height = splitContainerl. Panel2. Height — pnlGraph. Top — SCROLLBA }
R_WIDTH;
//
[/ A =a— T
// //
?;17 ATA—=FGIPEDT 7 ANKRT v T2 B — private void menuFileExit_Click(object sender, EventArgs e)

private void frmMain_DragEnter (object sender, DragEventArgs e) this. Close();
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//
/17 7 R
//

private void btnOK_Click (object sender, EventArgs e)

DrawGraph () ;

//
%7“5 7 i R

private void btnToubai_Click (object sender, EventArgs e) {
scale_mode = 5;
DrawGraph () ;

private void btnX2 _Click(object sender, EventArgs e) {

scale_mode = 6;
DrawGraph () ;

private void btnX4_Click(object sender, EventArgs e) {
scale_mode = T;
DrawGraph () ;

private void btnX8_Click(object sender, EventArgs e) {
scale_mode = 8;
DrawGraph () ;

private void btnX1_Click(object sender, EventArgs e) {
scale_mode = 1;
DrawGraph () ;

private void btnW2_Click(object sender, EventArgs e) {
scale_mode = 2;
DrawGraph () ;

private void btnW4_Click(object sender, EventArgs e) {

scale_mode = 3;
DrawGraph () ;

private void btnW8_Click (object sender, EventArgs e) {
scale_mode = 4;
DrawGraph () ;

//
%ﬁf&ayﬁ&y
private void btnGraphOption_Click(object sender, EventArgs e)

if (frmOptionl.ShowDialog() == DialogResult. OK) {
DrawGraph () ;

//

;/7?70)7 U w7 TlstViewDA 7 v 7 AZEHE

/

private void pctGraph_MouseMove (object sender, MouseEventArgs e)

if (e. Button == MouseButtons. Left) {
if (IstView. Ttems. Count > 0) {
int x = (int) (e.X / graph_v);
if(x < 0)
=0;
else if(x >= IstView. Items. Count)
x = lstView. Items. Count — 1;
1stView. SelectedIndex = x;
IstView. Focus () ;

}

}

else if(e.Button == MouseButtons. Right) {
Point pnt2 = new Point(e.X, e.Y);
pnt2 = pctGraph. PointToScreen (pnt2) ;
int x = pnt2.X — scrPoint2. X3
int y = pnt2.Y - scrPoint2.Y;

pnlGraph. AutoScrollPosition = new Point (-scrPointl.X + x * -1, -scrPo

intl.Y + y * -1);
}
}
private void pctGraph_MouseDown (object sender, MouseEventArgs e)

if (e. Button == MouseButtons. Left) {
if (IstView. Items. Count > 0
int x = (int) (e.X / graph_v);
if(x <0)

X )
else if(x >= lstView. [tems. Count)
x = lstView. Items. Count - 1;
IstView. SelectedIndex = x;
IstView. Focus () ;

}

else if(e.Button == MouseButtons. Right) {
scrPointl = pnlGraph. AutoScrollPosition;
scrPoint2 = new Point(e. X, e.Y);
scrPoint2 = pctGraph. PointToScreen (scrPoint2) ;

if (cur_show) {
erase_cursol () ;
cur_show = false;
}
private void pnlGraph_Scroll (object sender, ScrollEventArgs e)
if (cur_show) {

erase_cursol () ;
cur_show = false;

}

//
%fiﬂﬁwﬁtk\%@@4VX&VXK&T@§LK%§%ﬁTmE

class myApplication:WindowsFormsApplicationBase {

public myApplication() : base() {
this. EnableVisualStyles = true;
this. IsSinglelnstance = true;
this. MainForm = new fraMain();// A% — 7 v 77 4 — L& BE
this. StartupNextInstance += new StartupNextInstanceEventHandler (myApplica

tion_StartupNextInstance) ;

tArgs e)

void myApplication_StartupNextInstance (object sender, StartupNextInstanceEven

[/ I HEB S L & O E E
//e.CommandLine T~ KT A 5 5& BAFH KD
frmMain frmMainl = (frmMain)MainForm;

//REBIRED T 7 A VA A
foreach(string cmd in e.CommandLine) {
frmMainl. FileOpen (emd) ;



